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I 13 mwn: exemption of mp»
a  if: the animal was bought or given to him as a present — exempt from 2”yn
b source: v.1- compares DTR M1 to 1INV NN N2
i justas: sons aren’t bought or given as present — so too nnnNa M1 must be “his own”
1 but: this can’t really apply to 71212, which has no n»wy ("nwyn 13”), since it is on7a VIT1P
2 therefore: we apply it to 2”yn
(a) and not: applied to DWRY NRVN; must be similar to 732 — which isn’t n791/V17p due to xon
(b) and not: applied to w1 n%y; must be similar to 712 — which isn’t voluntarily sanctified
(c) and not: applied to n”®1 nY1Y; must be similar to 733, who has no set time
3 challenge: just as 732 cannot be, in any manner, associated with a transaction; so too with 2”yn
(a) however: 13y "1 ruled that if you buy 10 animals in utero, they all go into the corral for 2”yn
(b) answer (X837, as well as 877): v. 1 - "nwyn” - only at point of N»Wy (counting) does the limitation of mp% apply
(i) challenge (815 27758 12 pwow 79): ruling that mpY applies even to jnt 70NN (animal <8 days old)
(ii) answer: thatis an errant transmission; if it is correct, atttibute it to w™ owa N 12 PYNY 3
(iii) @~ 101 901NN can join the corral; just like 7122
1. just as: 131 is W17 (at birth) before it may be brought, but is only offered ynr InRY (day 8->)
2. 50 too: 2”yn can enter the corral and be marked early, but only offered after day 7
ii  related ruling: Ran taught before 17 —nnr 1R (v. 3) which enters the 177 — if he gave it to the nnr then bought it back
1 challenge: it should be excluded as a mp%
2 block: challenger forgot ruling of 3y "7 (above) — if he bought animal in utero, it is included in 2”yn
(a) (note: in other words, the 3nX may have been in utero the whole time)
(b) challenge: why require that he buy it back? She could bring it into her corral
(i) answer: the N1 isn’t MHYRIWV?
(if) challenge: why doesn’t the Rin define the case as a >8> Nt — and she puts it into her corral
1. answer: per »aR — 1t 1INR only applies to ™1 = a 113 who has nxva with her doesn’t violate v. 4
2. but: HRIW Nt doesn’t fit criteria for 3NR 2103 who has nR»a with her does violate v. 4
a.  source: NayN:nNaIN (vv. 3::5) from m»y; Ny are all relationships where pw1Tp cannot occur
b. therefore: only applies to
c. and: 103 who has relations with her doesn’t violate v. 4, as it must be his “seed” that is Y51nn
i.  and: any child he has with a n nnrisn’t his “seed” (no v»n)
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